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And if he cannot disgorge it, why is he liable

OVERVIEW

The X713 1s attempting to find a situation where the 7in°2 211 for eating a 7OX: 127,
and the 11 211 for stealing this MOXA 727, are simultaneous. The X773 suggested a
case where another person stuck this M0X:7 727 into the 73°%27 n°2 (the throat) of
the one who eventually swallowed it. However the X3 is not satisfied; if he
cannot spew it out why is he liable. There is a dispute between *"w7 and nN1BOIN as
to the meaning of 21 "XnX. According to *"¥1 it means why is he 7n°» 21, and
according to Mo0IN it means why is there a 17 2177,

- 25 2990 NNN 'DvPa Y
>'"w9 explained the s'X13 question to mean; why is he 5% 3991, since it was forced
upon him.

mooIn disagrees with >"wAo:
= 2INNT 1Y NI INYINY 1N SPI5T PNYY 139290 NYP)

And the °'"'1 has a difficulty with >"w79, for let the X n3 establish the case where

for instance he willingly allowed him to thrust the 7210 into his throat -
= TIND 2819 RDT 2) DY R NN 29N INT NOWNT
So now he is certainly mno» 29m, even though it is 779778Y 3% K9; since he

willingly allowed the other person to thrust it down his throat, he is not an 01X -
- 2n91INY S8 N9 1995 299151 NI 133 19109

"%y 7"7 where he writes R DNIR 7072 [2717 "RAR].
? Therefore, since there is no 7" 2rm, there is no »"2%p and he should be 271 to pay. [It would seem that according
to *"w1 even though it is an 01K he is liable for m2wn (see footnote # 3).] It seems that even though n"2%p applies
even by xw (see 71 7"7 '00 on this 7Y [TIE footnote # 4] and X,7% 1np?), nevertheless there is no n"2%p by an 01X
(see X"vM). Alternately *"wn (may) maintain[s] that n13 *2>1 are Pm>wnn Mws (according to 7"217) only 771132, where
there is an actual N3 21°17 (see 5">m "7 X,05 2°10D "W).
? noon distinguishes between the 7in"» 211 for eating a MoK 727 for which he is liable (even though it is ¥n XY
SITINY), since 21107 12 I Wen, and the 1mn avn for 771, for which he is not 21 (even though 17 s WX
2I1n7), since it is 1778 *¥n X7, The explanation is that the 7 211 is for eating and he ate it willingly, since 111¥7
207 12 moan (knowing that he will need to swallow and eat it). Therefore he is 21 (see nx29:7 that it is likened to
Ny where the woman is 21 since it was %72, even though she is 22 yp7p and 7wyn 72y R?). Regarding stealing,
however, even though he allowed him 211n% 12 m17% (knowing full well that he will have no choice but to swallow
it), nevertheless allowing someone else to steal, is not considered stealing for the person who is passive. Therefore
up to the point where the food was placed in his throat, he certainly did not steal (even though he may be considered
somewhat of an accomplice), and he cannot be liable for destroying the food by swallowing it, since at that point he
was already an DIR.
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And he will not be liable to pay money for the entire value of the object he

swallowed, since it is 57917;71RY 937 K93 he would be liable (theoretically) -
- 99% N3973 NY 0¥ RNYY NONNY “u1’) 19993 NNID HY NN

Only for the benefit of his throat and intestines, but at that point (when the
food entered into his body completely, he is exempt from paying even for 11173 NXI7

1YM since it is ®'"a%p. This case would be the appropriate scenario where he is M from
1n2wn when he ate 7m11n, because of n"2%p. Why did not the X773 answer in this manner?!

mooIn offers his interpretation:
- %2531 Y INNINNY *191) KY NIN 991 1999 2550 INNAN IWITD 25N PN 199297 NN

And it is the view of the "9 that this is the explanation; ‘why is he liable’ to
pay for the stolen item, since he did not steal it (he was passive), and he should
not be liable even for the benefit he received, as maoIn continues to explain.

mMooIn anticipates the argument that he should be liable for his 7X37:
= 199N INN N2 DOYAN YNNI XYY D) (3,007 97 xnp xa2) 12INT 2) DY GNT

For even though X701 17 ruled; one who stole and the owners did not despair

and another came along and ate it (in the house of the 1°1), the rule is: the owner -
= 9399 N2 NN NNY

If he wants can collect from this one, etc. or he can collect from the other one. He can
collect either from the thief of from the eater, even though the eater did not steal it. Similarly
here he should be able to collect from the eater (at least 1°¥1 DRI7).

mooIn responds that the case there is different from here. The reason the eater is liable there -
- 73511 53w ATY AYWA D9IYA DY TIIN 12THVY r9Y NPT 9N

Is only specifically in that case, since the stolen item exists at the time the

second one steals it (from the owner [who was not wX>n1]) by eating it -
= 099N 119 NAN NIN 929 19191 N3N NTY HYWaT NON DaN

* Even though he did not steal the food (someone else thrust it down his throat), nevertheless he did derive benefit
from it (both in the taste — 11173, and in satisfying his hunger — 1"y nX177) and for this benefit he would have to pay
[(even though it may be less than the ‘regular’ value of this food item) as anyone who needs to pay if he derived
benefit from someone else (especially if the benefactor suffered a loss [as in this case])], if there was no iin°» 217 for
eating it. However now that this benefit was received simultaneously with the 7n°» 21°17, he will be 75 from paying
even for the benefit since it is n"2%p. This is (according to) s>"w1 view (who [seemingly] maintains that even 012 he
is 171 211 [see footnote # 2]); however see later (footnote # 8) that m»poIn disagrees. See ‘Thinking it over’ # 1.
> The ‘eater’ is certainly not liable for stealing; he did not steal anything (see footnote # 3)! The only possible issue
is if he is liable for his 7X177, which n1901n continues to explain that he is not liable.
® The X3 asks that in the case of *W7RY *¥n X there can be no issue of n"2% (even if 2MN» ™ M M), since
initially there is no 772 21!
"It was still 2°»¥2 MwA3 since he was wx*n1 X2 and it had its complete value, for it was intact.
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However here at the time the eater derives 7837 from it, the food item is already

lost forever and it has no value -
- 3oy 53w HY 1Y PPN AINTING TWAN NIT DYPNA NYIY

Since it is in a place where it is impossible 1778Y, therefore the owner has no

claim on the second person (i.e. the eater). Therefore the X713 asks if it is >177X% *¥n X5 there
is no 1M 2111 even without the n"2%p.

mooIn finds a support for *"ws:
- T3y nOOWS WM DH9aN 12 PNNY I
And the R'"2x%°9 explains the X77) in the manner of >''29 that the question 2717 *Xnx
refers (also) to the i 211, that he should be mwd since he is an 01X. However, m»0in asked
that let us establish it in a case where 2107 1% 11 M¥N, so he is not an DUX; to this the X"2x¥"A
replies -
= IN99 DY 1D AMNWI 19INRT ©7YNY 1D NVIV)
That it was obvious to the X973 that we are discussing a case where he thrust it

down his throat against his will (so he is an onx) -
- 1503183 295NNNY TN NXIP NITIR KDY 1993 DIVNRYI 199 18N 19 ANNYIT

For if he thrust it with the eater’s consent (as 9010 argues), then immediately
when it was placed in his mouth and the eater did not spew it out, the eater
acquired the food, to be liable for any mishap that will occur to this food -

= Y192 IN 1YANND 1D ANIN 79 9NN) 1992 NNNN RNNONY Yanne 1PNA PN
So the 71”1 1M 70 210 are not simultaneous, for presumably he places the
food in the eater’s mouth and afterward he thrusts it with a finger or a spindle

down his throat. The 177 21 is when he placed it in the mouth before he thrust it down, and the
nnom 2vn is after he swallowed it so they are not 71X 7°X2.

mooIn anticipates a difficulty with this proof:
= AYIDAN N2 99) I ININNN WIN YR NINY 991D N8N ON)

¥ mooin disagrees with the reasoning in footnote # 3. This (that he is M5 even for ¥» nXi7) should apply even if it
was placed there willingly; otherwise the same question which m»oin asked on >"w9 applies to the "7 (let us
establish it when he allows him to put it in). See ‘Thinking it over’ # 1.
? But not exactly like *"w". See later by footnote # 19.
19 According to the X" if he allowed it to be placed in his mouth, he will be liable to pay for the full value of the
food, not as the >"1 maintains (see footnote # 8), and not only for v nNX17 as MdOIN insisted (according to *"w1 [see
footnote # 4]). The *"1, however, maintains that he does not acquire it 7?0182 2110777, since he did not do anything.
" Therefore it was obvious to the X »3 that the case of NTAXY *¥» X% cannot be in a situation where it was 1Mxn3, for
then there can be no »n"2%p since it is not TR PR2. We must therefore conclude that is >"¥a (so seemingly the 210
11 (for AX317) and 70 210 are TAXD 1°R2 (when he swallowed it), nonetheless the X713 asks if it was 3"v2 there is no
an 7 a2 (and 1on) at all! See “Thinking it over’ # 3.
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And even if you will insist on saying that the food is on the tip of the spindle
from the very beginning (when he started to place it in his mouth) until the end

when it reached the 799257 N2, so seemingly in this case the eater never acquired it for a1
701X, and the 111 211 began after he swallowed it, simultaneously with the 7n°»n 21m —

mooIN rejects this response:
= 1NN INYANDY 1PN 91957 23 DY N DO0IN 29NNNY 1992 IMIN NP DIPN JoN

Nonetheless (even though it did not actually rest [independently] in his mouth, but
it was always in the possession of the ‘thruster’), the eater acquires the food to be
liable for o1R (since it was in his mouth and he could have refused it or spit it
out). For even though the ‘thruster’ could have retracted it and bring it back to

himself at any time, so seemingly the eater had no control over the food and therefore does not
acquire it 1°0282 2»nNY —

moon responds that the ability 17017 does not prevent the eater from acquiring it:
- 10) 91 N9 IPMY 91957 N3N Z1399N 0IN 1YY NPT

For it is only specifically regarding a vx that X701 27 ruled that if he is able to

snatch the vi away, that it is not v -
- Bava xan N Pmmdas 1oyat oywn

Since by 7217 we require ‘a separation’ and this 03 is still attached to him,

therefore it is not a valid V3 -
- (0w X0 1) CRIINID NIDT NNDP P92 JNIYN 1998 19ayY YaN

However regarding acquisition of items, we find in the first 9 of »''3 noon -
- 59m N9 909D 533 YYY N8N NN PN 23 BY N8N YD 53 Y AIEN 1YY

‘A cloak which half of it was on the ground and the other half was on a pillar
(above the ground), and he raised the half which was on the ground (and the

other half remained on the pillar), that he does not acquire the n°>v’, despite -
- 58N ANYANYY NPMY 1PV DYON

12 X,7 n"2;2,nv 7. The case there is where there was a string attached to the vi. The husband gave her the v but
retained the string. The rule is if he can snatch the 3 away from her with the string she is not nwan.
" The 770 writes (X,72 [X¥n] 2°727); MN™3 790 72 2001
4 The problem there is not that she was not 71 the v3 (since pn1? ©13°) but rather (even if she is 7P the v))
nevertheless it is not a valid 1w since the va is still attached to him and not completely in her domain.
' See X"y here in the 0"wi 1793 who asks that Moo could have proven his point (that 17n3> 912° is not relevant by
17121 701) from the very same X3 in R,7 2"2, where the X7n3 clearly differentiates between v and 19211 (that by 1°1p
1991 it is valid even if 1pn1? 912°). See X MK 7"'>%0.
'® He did not acquire the n>v since he only picked up half of it and the other half remained at rest on the T1y. The
same rule applies if the entire n°7v is on the ground and he picked up only part of it; he is not 7117, since he did not
pick up the entire n°2v off the ground.
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The argument that he can pull and bring the entire n°>v to him"” -
= N OYOVN NIINIRY 1P

So since he cannot acquire the n°>v for this reason of N1 712 (proving that

regarding acquisition 1pn12 912’ is not effective to be considered in his domain) -
= AT OYVN O TINI INIT TINI NN RINY INND NHIT Y90 I1NT )TN NN

The same logic applies that this 1pn1% 712> here does not diminish the power of
acquisition of the other party in whose hand or in whose mouth the item is
found, and for the same reason; 1pn1> 912’ is ineffective.

mooIn continues that even if we do not accept his reasoning completely, but rather maintain that
PnI? 7120 gives the 712° a certain power, nevertheless the eater still acquires the food 2»nn?
TOINRA -

- Banoyn 115290 0% 115 N8N P MNON D257 I

And additionally; the eater should acquire at least half of the food just like by
two who picked up a lost object —

The X"2x%> concludes:
= 99913 DINAT ©7YNY DY NVIVO 799

So therefore it was obvious to the X923 that we are discussing a case where it
was placed forcibly in his mouth, for otherwise there would certainly be a Pan 2rn which
precedes the 7n°» 211 and there can be no thought of n"2%p -

199D NYYINA 199 NI KIT 3700 1INT 1119199 1511 9909) N1 DIN WIS 9919
And this is the explanation of the s'®R7nx question 211 *XnX, he is an ©uX and
should be =5 from both 0% (since he is an D1X), and also from y», for we
(the 7"2) testify that he is not pleased with eating an 912°N!

SUMMARY

"7 One may have thought that since the 7P could have yanked the n*>v off the 71y and at that point the entire n*>v
would have been off the ground, so he should acquire it. However, it is not so; we do not give him any power of
acquisition based on the pn1% 712 (only if he actually yanked it off, is he 7117 (see '01n there 2°X171 7"7). [The concept
of P17 915° does not apply if the entire N°v is on the ground since he will never be able to raise the (large) n°?v off
the ground if he is merely holding on to the edge of it.]
'8 The ruling there is that they both acquire it, even though one of them may be N3 212, but so can the other, the
same here even though the thruster is pn1? 912°, however the eater is also 1pn1? 215° (by closing his mouth and biting
down on the v15 with the food), therefore they both acquire it [totally] regarding 101X *21°n. However we cannot
understand MooIN to mean that each one (the thruster and the eater) acquires half, for when he swallowed it entirely
he becomes obligated on the second half and the rule of n"2%p would apply on the second half (see 1% X 7"20).
1% 5"p9 only mentioned that he is 70" 7100 because of onX; the X"2¥™ adds that he will also be Tnnn 1w since
there is the >770 13X that it is 72 X1 X9, therefore there is no 7X317 that he should pay for. See footnote # 9. See
‘Thinking it over’ # 2.
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*"w1 nuw: The question of 21 XX refers to N1 since it was 01182 (however he
would be 211 for 1 [even if it was D1IX2 (at least 1°v»n NRIT)).

mooIn rejects "wIo for let us establish the case where it was 71¥72 and there is a
1N 21 simultaneous with a 1nn 2117 of 1Pvn NRIT.

'0In nv>w: The question is why is there a 17n 21°1 (even if it was 11¥72), since it is &?
7NTARY 9¥n it is worthless to the owner.

X"2¥"77 nuw: Why is there a 710" 21°17 (since it is 013X2) and why is there a 171 211
since he does not want the MoX. [If it were 1NX¥72, there would be a Pnn 210
immediately when it was placed in his mouth (even if pn1% 912°) before there is a
0o arn.]

THINKING IT OVER

1. Initially n591n maintained that in a case of TM7IRY *¥n X2 (and it was 1¥12) he
will be 21 for vy nxa (if not for n"2%p).%° Later moon writes that if it is a case of
177K ¥ X9 he is not 271 to pay.”' How can we reconcile these two views of
moon?*

2. The °"1 and "w" seem to agree that (even if it was 013%2) he would be liable to
pay (for 1vn nx17),> and argue with the x"2%7.* How will they deal with the 71X
»7770 which the X"2%*1 mentions?*

3. The X"a¥>" argues that it cannot be a case of 111¥7» for then it is not TAxD 17X2.%
Why is the problem of X2 X2 X a greater problem, so the X711 could not have
meant it, than the problem that if it is 0132 there is no %M AN 21, which the
X3 did assume was meant by >NTIRY ¥ X9? They seem to be equally
problematic!

20 See footnote # 4.

2 See footnote # 8.

2 See 2x M 7"O0.

» The reason the *" states he is 7109 is (only) because it is 07w 7 7aR; otherwise he would be 2>n.
* See footnote # 19.

¥ See m3 MK 7"0.

% See footnote # 11.
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